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 Exam Question on Autograph (C1)
The curve C has equation
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. The point P on C has x-coordinate 1. Show that dy/dx at P is 3 and find an equation of the tangent to C at P. Also find the point where this tangent meets the x-axis.
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 Open a new graph page on Autograph in Advanced Mode
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 Enter equation and use [image: image6.bmp] ‘drag’   [image: image7.png]


 ‘zoom’ etc. to suitable scales 
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 Use ‘Slow Plot’  [image: image9.png]


 ’Replot’ and 
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 ‘Pause’ to discuss shape etc!
	[image: image11.png]40

20

- Equation 1: y=$h+(5—x)/x
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Attach Point to the curve at x = 3
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 Right Click then add the tangent
Confirm your solutions obtained by Calculus in the ‘Status Box’ shown below. Alternatively add (as in slow plot shown here) the equation of the tangent obtained using Calculus. 
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 to confirm where the tangent cuts the x-axis.
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- Equation 1: y=$h+(5—x)/x
Il Equation 2: y=23.44x-33.67
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